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(LEERE T ) SETEL0.0kN i
H=500 A7.773= 47.773 47770 "
H=750 4.210= 4270  4.270 "
H=1.000 4-000= 4.000 4.000 "
H=1.250 6.000= 6.000 6.000 "
H=1.500 4-000+7.628= 11.628 11 .630 "
H=1.750 6.000= 6.000  6.000 "
e 000 4.000+17.628+10.000= a1 608 31 g3 M

&= 111.299 m
[LEIBERE T F¥40] 10.00/m
LEYEEE  H=500
FR1E e (BREL) 10.00*(0.70*0.2)+(1.10*0.63)= 2.093 2 090 M
AR C-40 =200 10.00*0.70= 7.000 7 .000 ™
B fh #L 10.00%(0.10%2)= 2.000 2.000 M
avhy—k 18-8-40 10.00*(0.60*0.10)= 0.600 0.600 ™
BELAIL 1:3 10.00%(0.55*0.03)= 0.165 0.170 ™
BEL FAL 10.00%0.28= 2.800 2.800 ™
LEIBERE H=750
PR i (REL) 10.00*(0.85*0.2)+(1.25*0.88)= 2.800 2 goo ™
AR C-40 =200 10.00*0.85= 8.500 8 .500 M
B fh #L 10.00%(0.10%2)= 2.000 2.000 M
avhy—k 18-8-40 10.00*(0.75*0.10)= 0.75  0.750 ™
BELAIL 1:3 10.00%(0.70*0.03)= 0.210 0.210 ™
BEL FAL 10.00%0.59= 5.900 5.900 ™
LEBERE H=1.000
PR i (REL) 10.00*(1.05*0.2)+(1.45%1.13)= 3.739 3 .740 ™
AR C-40 =200 10.00*1.05= 10.500 10 .500 ™
B fh #L 10.00%(0.10%2)= 2.000 2.000 ™
avhy—k 18-8-40 10.00*(0.95*0.10)= 0.950 0.950 ™
BELAIL 1:3 10.00%(0.90*0.03)= 0.270 0.270 ™
BEL FAL 10.00%1.01= 10.100 10 .100 ™
LEYBERE H=1.250
PR wEy (REL) 10.00*((1.20*0.2)+1.86)= 21.000 21.000 ™
AR C-40 =200 10.00*1.20= 12.000 12 .000 ™
B fh #L 10.00%(0.10%2)= 2.000 2.000 M
avhy—k 18-8-40 10.00*(1.10%0.10)= 1.100 1.100 ™
BELAIL 1:3 10.00*(1.05*0.03)= 0.315 0.320 ™
R L TRt 10.00%1.77= 17.700 17 .700 ™
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10.00*((1.35%0.2)+2.32)=
10.00*1.35=
10.00*(0.10%2)=
10.00*(1.25%0.10)=
10.00*(1.20%0.03)=

10.00*2.50=

10.00*((1.55%0.2)+2.78)=
10.00*1.55=
10.00*(0.10%2)=
10.00*(1.45%0.10)=
10.00*(1.40%0.03)=

10.00*3.36=

10.00%((1.70%0.2)+3.15)=
10.00*1.70=
10.00%(0.10*2)=
10.00*(1.60*0.10)=
10.00*(1.55*0.03)=

10.00*4.23=

870.65*0.20=

870.65=

870.65=

(5.00*2)+(9.22*6)=

5.50*10=

65.32+55.00=

11.00=

27.94+15.18+40.28=

83.40/2+1=

0.72+27.44+14.04+16.93+0.78=

34.11=
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